تمارين 1
1- إذا كانت S={1, {1}, {2}} فحددي أي مما يأتي صحيح أو خطأ :
  1-  1S                             2-  {1}S
  3-  S {1}                       4-  S {{1}}
  5-  S {1}}                     6-  S  2
  7-  S {2}                       8-   S {2}
  9-  S {{2}}                 10- S  {{2}}
  11- S {1, 2} 
2- إذا كانت S={1, , {2}} فحددي أي مما يأتي صحيح أو خطأ :
    1-  1S                            2-  {1}S
3-  S                            4-  S  
5-  S {}                       6-  S  2
3- اثبتي أن =A-B إذا و إذا فقط  A B 
4- أوجدي 
  1- {}                   2- {{}, }- 
3-  {}                  4- {{}, }-{}



5- أوجد  ، ، .


6- إذا كانت S مجموعة منتهية حيث ، اثبتي أن 

7- برهني أن .

8- هل ؟ عللي إجابتك.

9- هل ؟ عللي إجابتك. 
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